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1 L0 87 3% 7/ NYY
2 ) /6 78 48 /&
3 L8 SN 76 &3 72
4 7/ &3 S7 X3 60
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No. 6 8 10
1 §é 34 33 32 32
2 7/ 23 38 &/ 37
3 76 24 39 34 43
4 73 74 76 7L 78
5 28 45 46 47 40
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11| 99%x6= 21| /98+ 6=
12| $7xé= 22| /30+8=
13| 27 x &= 23| /48 +2-
14| #9x8= 24| 228+3-
15| 0% &= 25| 333+9-=
16| 70x 4= 26| 228+ 6=
17| e4x &= 27| 207 +3-=
18| 99 x4= 28| $3/+9-=
19| 4&x7= 20| 366+6-=
20| /&x§= 30| 728+¢8-
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1 /7 38 &4 68 /6
2 &/ 48 &7 &S &4
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4 ) S 77 66 $2
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6 63 63 60 // /8
No. 6 8 10
1 &S &9 70 32 47
2 /7 S¥ &7 77 S
3 23 &L S3 $é 78
4 ) 25 % 74 $7
5 8L &8 73 30 L7
6 LY 28 Y4 70 24
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11| 30x9= 21| 284 +4=
12| S4¥ X9 = 22| 3¢y -y =
13| 74x3= 23| 3/6+4=
14| &/ X7 = 24| /33=7=
15| &7 X9 = 25| /80+8=
16| 3/ X 4= 26| 224+&=
17 36X 7= 27| 39&6+9 =
18| SOxX2= 28| 74+2=
19| 49X 8= 29| 349 +9 =
200 7/ x3= 30| 480+&=
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2 77 /& 7/ 77 77
3 77 SN 88 L7 L7
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3 28 ) %0 /0 /3
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5 79 6/ &8 /L 30
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M| L4X&= 21| 90+4=
12 4 X7 = 2| ¢5+3=
13| L X$= 23| 784 +& =
14| 90X 4= 24| YUY~y =
15| 32X 3= 25| 480+ 8=
16| 4/ X7= 26| 4850+ 4=
17 65 X7 = 27| 230+ 8=
18| 43X &= 28| §&2+9 =
19| 4/ xX&= 29| 374+4=
200 35 x7= 0| 4&+3=
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3 N /7 S¥ S7 &3
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5 7 2 74 N4 74 $é
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11| Sox&= 21| 230+8 =
12| /4 X7 = 22| 282+7 =
13| 42x7= 23| 485+3=
14| 77 x&= 24| 432+ 6=
15| 77 X %= 25| 74+2=
16| §4XS§ = 26| 384 +4=
17| &4 x 3= 27| /78+2=
18| &7 x 8= 28| 244+3=
19| 70x &= 29| S$94+ 6=
20| 32x 4= 30| /288 =
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2 L/ $3 77 /0 77
3 66 73 42 $é 3é
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1 /7 78 S/ /7 /7
2 70 76 74 /& /6
3 66 34 Lo 28 77
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5 78 S7 78 79 72
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11| 40X3= 21| 93+3=
12| 64 X8 = 2 286+2=
13| 77 X&= 23| //0+2=
14| 38 x 4= 24| /40+8 =
15| 22X 9= 25| 728 +&=
16| &S X3 = 26| 45+3=
17| 39 x &= 27| $3/+9=
18| $6X3= 28| 49 +3=
19| 35 x4 = 29| //é6+4=
20| 20x%x7= 30| /40+S8=
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